EaED (& %

B S AL
FOE

*:ﬁiﬁ&%%ﬁﬂiﬁ)&Aiﬁ
51100[=]

BIDEE

SEDT—=IT

R T —

mﬁ@k@%ﬁ%&

—=—vJ+%=

AL DHEWLH
ANEZZEZD

x

H

FEE = (b Y5l
BETEBERRmEEAS =8
(BR) 7+ L X b7z RREUHE

197957 ARE=ZHEEN
EmERXEE

2000 F ~FH R AHX DO BT Ti5 (2 5HE
EEBEEEFE -7

20185 45T

203FHEMEBEEASAS

;_‘:)/_(_L/%/%%%@ E?EJ%.:X '1'78—.’75

W7+ LR ILZERILL
FLCERE SR [jair] 2% LIRGTHEA

=8 _mt 2R

@+35

RAMITRZVFETI
(ZL—>IL—L1)

BEmB RXEHBE R fhR4-29-1

[=];

=
JREGESILE (888 | R0 .
HESTE [RaBE ] FED L YES3H

[=

= 48158 X)

E—=v7tIF—
6:30~7:30
E—=vJ€IF—8H1L 6:00~6:10
TOE—= v SEeIr—-8tL&Y) T8m 2w



